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Time : 2 Hrs,
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Note : Before answerin

g the questions, read carefully the instructions given on the
OMR sheet, ' J B

BRES amraves Eabont 508 OMR aom SBswes’ ABERED BIDHOR BT BESok.
SECTION—I : MATHEMATICS

1. A Dbox contains 24 balls of which x are red, 2x are white and 3x are blue. A ball is
selected at random. What is the probability that the selected ball is not red?

24 2oBoed Ko e DPS® x DY, 2x Bew) 2080k 3x Deo ok woBren Eew). ©oE® Hod LY
208D &, & 0B DY) Ko/H OB e Ke Sogrdgd

1
= (2)

| =

(4)

G | =

(3)

2. Two dice are thrown at the same time. What is the probability that the sum of the
two numbers appearing on the top of the dice is more than 10?

Both 50 eS8 gmﬁmm. 63 SoogreR S Jo)ke Dwdo 10 Kol KD eaﬁ;eagn o Sogrssd

2oH7?
1 el
(1) 3 @ 1
1 @) —
(3) 2 13
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3.

7.

P [ \ d
5 cards of hearts and 4 cards of spades are missing frgm a pack ol"I ._3]2 carlflséﬁiiara
is drawn at random from the remaining pack. What is the probability of getting

black card? .
52 D Soofen Ko b 5@@5“ SeyS0sss Koo, Ko 2 SPden HuBa 4 s°EHen ke 8. 20RDD 28

Rood a8 SRy aireeydysorT SoHre e e 8ol 5°8) et Ko Sograyd

e

22 22
(1) = (@) 76
24 24
(8) 53 (4) 76

The average of the observations 10, 20, 65, 102, 108, 115 1s

R5ewd5 10, 20, 65, 102, 108, 115 ooide Bk, S/
(1) 50 (2) 70
(3) 60 (4) 40

If 35 is removed from the data 30, 34, 35, 36, 37, 38, 39, 40, then the median
increases by
30, 34, 35, 36, 37, 38, 39, 40, &sEro¥os’ 35 SoRoDdeond, TR 2¢y/1e 205" DHNHSE

(1 2 (2) 15

(3) 1 (4) 05

The modal class of the following frequency distribution is

&5 (508 D5 DTWIDL ook, erTISEY) BENS

Class Interval 0-20 20-40 | 40-60 | 60-80 | 80-100
BEHS woto

Number of Students 15 18 21 29 17
TR Do)y

(1) 80-100 (2) 0-20

(3) 60-80 (4) 40-60

gattl;ei?ode and mean of a data are 24 and 60 respectively, then the median of the

25 (5857082000 G300, e TRES) BoBak) ok D50 SB[ 24 HoBan 60 e, & SEroso AL,
Sx6sffeo :
(1) 49

(3) 47 (2) 48

(4) 46

v w X i’
.B e
/ l’.f ) 113 _*‘:) ) - "'_’II
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I 1 J 8 pution 1s

&6 1508 oo &
DNy dgresvodst, SO BEXD IS e
Gy

Class Interval
50-70 70~
B S 0-90 90-110 110-130 | 130-150 150-170

Frequ
quency 15 = =
TRIYNg0 19 8 5

(1) 110
(3) 130 (2) 90
(4) 70

140
SFOL =

140
210
(1) terminating decimal
©oBAy STo0
(2) non-terminating and repeating decimal
©0&0 579 HoBatn &H58D HToso
(3) non-terminating and non-repeating decimal
080 570 HBA a0 520 SFoso
(4) None of the above
T2 5
-10. The remainder when the square of any prime number greater than 3 is divided by 6 is
3 5083 LD IPT (ST Soay Bk, SRy 6 D grRobe Hidyy T
(1) 1 (2) 2
(3) 3 4 4
11. Which of the following statements is not correct?

s 1308 HH5TeS’ I8 8GRI S°E?
The sum of a rational number and an irrational number is an irrational number.

(1)
2.5 ESHAD ﬁoa:g 508050 2.8 E8e30DH Dogge 3oBo 2.8 E530% Hog)s %008,
(2) The sum of two irrational numbers need not be an irrational number.

Botks SeBat Sopg o ek SEEAD Sog) SSSE0 B | _
The product of a non-zero rational number and an irrational number is an

9.

SOHE 2.8

(3)
irrational number. | ; |
L At esEBas Hows 5,605 a8 elan Sogge ego 28 SSeab oy ¥0d.

(4) The product of two irrational numbers is always an irrational number.
Bots 55805 Howyw OO JERPET &l K8EaD Sogy ©YB0B.
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12. The HCF of 306 and 657 is

13.

14.

15.

16.

L

306 208atn 657 © NS

(2) 8
:31]} 2130 i S
The value of logy 32 is
logs 32 &), dewd
(1) 2 [2)a32
3) S (4) O

If A=1{1,2{3,4},5}, then which of the following is incorrect?
A={1,2,{3,4},5} ®ond, s 808 T0S° I8 $BANE 5°¢1?

(1) {3,4l€A (2) {{3,4}} cA
(3) {3,4cA (4) None of these
' T 5°)

If A and B are the two sets containing 3 and 6 elements respectively, then what
can be the maximum number of elements in AUB?

Ootd Jtoen A 80k B en S8I 3 H0Bain 6 Sarestes ¥OR @ﬁ&gw@, AUBS® $oé e
STO5e ﬁﬂg 50&:5 DOEH?

(1) 59 (2) 10
(8) 11 (4) 12

The number of subsets of the set A= {p,q} is
A={p,q} &3 5088 Ko &5 S208e og)

(1) 2 |

b @ o

Which of the following is g Polynomial?

6+ 508 ae® g o RTVHE)

(18 2 _6rc. 2 : -
] & 3% = 3x+1
(B) 5x2_3,, J2

(4) 2x2-35 .4

B
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18. If o and B are the

zeroes of the polynomial f(x)=6x2 + x - '
e y flx})=6x“+x-2, then the sum

A P v
F(X)=6x" + x -2 &3 250568 Ko BIVTS0 O, B @000 573 Dooto dend

of

1
(. = -
6 (2)
1
8). == 1
3 (4 3
19. If the zeroes of the quadratic polynomial ax? +bx+c(c #0) are equal, then
ax? +bx+c (c#0) & ég AR LIRS A08); ‘-ﬁ.:“ar-?gen SRS
(1) cand a have opposite signs (2) cand a have same signs
¢ S0B8an a e H5EBE HHew ¢ D080k @ ev &8 HXR0 EOR
EOR Hoeron Hoeron
(8) B2 £4ac (4) None of these
AN 5°)
20. If o, B, y are the roots of 4x® —6x2+7x+3=0, then the value of of+py+yo is
4x3 —6x2 +Tx+3 =0 Bo¥, Soeren 0, B, ¥ oo w0, af +By+ o Bk, 00D
7 i
e @ 5
3
2 o
3 3 ® 3
21. The pair of linear equations a;x+bjy+c; =0 and apx+byy+cy=0 has a unique
solution, then
ayx+by+c =0 $380500 AnX + by +Co =0 &R BHah SEGere e JBE A 08, WP
@l L byeey
El =+ P.l_ (2) = = bg F =
(1) ay b2 2 2
a _b
9 _b_o O
(3) ag b2 Co 2
SPACE FOR ROUGH WORK /80508 o
= ” [P.T.O
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o withdraw ¥2,000. She asked the cashier to give her 35,

bank t
22. Nimra went to & nd she got 30 notes in all. How many notes

and ¥100 notes only a
€50 and ¥100 respectively

o 2,000 Sr0ben BR0E"E08 ¥ wrgoBH DP0B. e sMADERY e @RS 50 By,
A 2,
oaaty 100 &ravabe Sy S a0 §88. Jngo 30 Sl &0 SRS, e /(s o

50 sranabe Sy 2o8av 100 grerahe 56 HERT D) ?
20, 10 [2)f 15,15

that she received?

(1)
(3 10,20 (4) None of these

D 579
23. If 2 is a root of the equation x°-px+q=0 and p?= 4g, then the other root ig
X% — px+q = 0 & 5286e708 2 24 Luresn 2B p? = 4g @owB, ROS"E Haresn,
1y -2 2) 2

s @ -2

24. The ratio of the sum and product of the roots of th
7x°-12x+18=0 is

€ quadratic equation

7x%-12x+18=0

(2) 14m
(4) 12m
\CEFOR ROUGH WORK /mmam g
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26. Find the 10th te

27.

28.

29.

rm of the arithmetic progression 5, 1,-3,-7,....

ST e =3, 7,.... &R o Eﬁq‘. ol 105 285800
(1) 31 (2) -31
(3) 30 (4) -30

The sum of first 10 terms of the arithmetic progression 34, 32, 30, ..

34, 32, 30, .... &% @08 B& 506 Ko 30058 10 Swre oo

(1) 200 (2) 225
(3) 250 (4) 275
The 12th term of the geometric progression (G.P.) 2,1,%,%,%,... is

3 0 I |
2,1,—,—,—,... e BES 12 5 56850
S e i
1 1
1) o9 (2) 78
1 1
(3) i ‘ (4) 1o

Which of the following is a geometric progression?

508 T0S° KR 87
L @) <2,-4,-12,...
2’4’8
A %1%

(3) 3,4,6,12,...

S

SPACE FOR ROUGH WORK /&tﬁiﬁﬂ)g ﬁmvéma

[ P.T.O.
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90, The coordinates of the point P which is equidistant from the three vertices q
AAOB as shown in the figure is

S0 515 AAOB Bghwo Gy, Su7dd 80 R0 B 6o 53 0o P @I, pisrs,,

f the

)
A(0, 2y)
P
- X
b Ojj B(2x, 0)
e . @ (@
. .
o (54 () (%Z;EJ

31. In what ratio, Y-axis divides the line Segment joining the po;

P4,2) 206ty O(8,3) Bochperss K9 Bae P& Y080 O 9586 28595008
(1) 3:1 ) 1:3 &
6] )

,2), (~1,k) an
[ k) and (2,3) are collinear, then the value of f is

2,3) &3 Dodpen Bshosirad, i Densd
(2) -1

PP collegedunias
! B ] India‘s largest Student Review Platform
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. ircle with centre at g I
38. In the given figure, PA and PB are the tangents to the c

ZAPB =36°, then £AOB= o -
B = 36 ) B =
32 Swod”, PA 50805 PB ew O ogorr Ke Hyamvs Jygoven. LAP

(2) 134°
(4) 154°

(1) 72°
(3) 144°

39. The area of the shaded region in the given figure is
30 Se0&" 1E awads $E50 B, dregin

4’

(1) 4=n sq. units (2) 16 - 16x% 8q. units
(3) 16 - 4x sq. units (4) None of these
DD 5°%)

40. .In the given figure, the radius of each outer circle is @, then the radius of the
Inner. circle is

S9YD S008, (58 2100 Hy8o P TR @ wand, ¥ DG Ty

(1) (V2+1 R aWz4y

(3) (2-y @) awz-y ’
SPACE FOR ROUGH WORK / Do a?b“?aén i
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i  41. If the length, breadth and hej

ght of a cuboid ;
then the total surface area o oid are 8 cm, 3 cm and 4 cm respectively,

a8 &.S:D'tﬁo QK DY, Desery, B0 SHI 8 cm, 3 cm, 4 cm @on, e Bigoiso B, Hodrgee

Q‘-‘u’“e)'so
(1) 48 cm? = mule
(3) 136 cm? s S

42. If the volume of a cylinder is 500 m® and the area of its base is 25 m?, then its

2.8 ST50 @Y, 5099657760 500 m> Bo8ckn T erPTe 25 m” eowd, T 6y Besgs’
(1) 20 (2) 15
(3) 50 ' (4) 30

43. If secO+tanb =k, then secé-tanb="7
secH +tan® = k @on® secH—tand =7?
(1) k | (2)

1
k
1
3y K @
(3) K | -

44. If sino+sinp+siny=3, then cos 0.+ cosp+cosy=

B+siny=3 es0® cosa+cosp+cosy=

sin o + sin

1) 0 (2) 1
(1 2 (4) 3
(3

42° tan67° = tan(A +30°), then the value of A 1s

45. If tan48° tan23°-tan |
o = 30°) e@od, A devs
° 0.tan67°=tan(A+
48°. tan23 .tan 42 u
tan -
(1) 30°

u. il e RIRs AR
= ~———50F FOR ROUGH WORK Tt QU
SPACE

(P.T.O

(4) 15° .

gcollegeduniag



e T S ——— -

4
a .
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46. If asin45°=bcosec30°, then the value of X 1
o
asin45° = bcosec 30° @008, 3;;- @08y, DD )
(1) 1 (2) 2 :
4) 2
(3) 2° (
47. If sin?0+cosec?0 =6, then sin® +cosecO =
sin20 + cosec?d = 6 wowd, sin +cosecd =
(1) 3V2 2) 242
(3) 42 (4) 2

its upper part touches the ground at a point 10 metr

] ind,
48. A tree is broken by win with the ground. Then what

from the foot of the tree and makes an angle of 45°

the entire height of the tree?
28 Doy ™S 26R0B. TR BAD P Mo, @D g0 (250) B00& 10 doexd B80S Jod ek

508010 @8 $R0E® 45°% §mo Doryeond, & Dey B, INBO &Y JoB?

(1) 15m (2) 20m
(3) 100++2)m (4) 10[1+§)m

49. If.two towers of heights h; and h, subtend angles of 30° and 60° respectively at th¢
midpoint of the line joining their feet, then the ratio of h1 th, is
Fy 396 Fy g0 885 Boco Agoen 48 ancrorso 885 Bape pocso G, s ok
Dot &a8s Seen SHST 30° S08ak 60° o8, T3 Jve DS h. : h, =
) g
(1) 2:1 ()8 12
[3} 3.1 (4} 1:3

50. Ifthe abili '
probability of guessing the correct answer to g question is — and the probabihu

&S (555 BB 5507590 e
Ri‘ﬁloineaga Ho % X PP\
5 05‘:}5@ 12 8a%) GOV DAHBE D8 Soir™)

gem,xawb
(1) 45
(3) 12 2) 4

4) o5
SPACE FOR ROUGH wogg /D858 PRIV
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51.

52.

53.

54.

R L TR T ey
SECTION—II : PHYSICS

If R is the resistance of a conductor of length [, then
[ &Y N I°T¥o BoY); 95%%0 R wond

1
1) = Rieee

(1) I (2) Rl

3) R«

(3) Vi (4) R is independent of I

1D R esprsaeiess

Ttrrgecunentf BRSNS are flowing towards: the junction in a circuit and
currents 1 mA, 1-5 mA and x are flowing away. The value of x (in mA) is

3 mA 30805 5 mA @R Bot DS (ST 2k DS HO%0S’D H0f PHHH Ho80%» 1 mA,
1:5 MA 208050 x e $08 H0é Ko [$52-% x Dend (A o8®)

(1) 8 : (2) 105
(8) 25 (4) 55

1 tesla =

1 8 =

(1) 1 weber (2) 1 weber/metre
1 26 1 325/ 5588

3) 1 Weber/me’tre2 4) 1 watt/metre2
1 325/ H06:62 1 e/ o06”

The phenomenon of electromagnetic induction involves the process of

D555, 08 59%3053063 23801 (P800
(1) charging a body
S99 eidtgroso Banto
(2) heating a coil
Bifopg00 B8 Datacio |
(3) producing induced current in a coil

BisongS® (B8 2525 L Banio

(4) preventing damages due to overload

55866 Ho Hapeidy PFHODEO - EEees

¢ o R u._‘-
SPACE FOR ROUGH WORK /DBDDE PR
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the change in magnetic flux and time respectively, thep the
At are
55. If A® and

58. The
induced EMF is thre
4 7oy B8O SPOH0 SEIITT e300B (BB DBgETeK DSy eok
A 508050 At @0 S0HR,0B P B8y S0 i (1)
ArBEaw
(2)
AD
AP (2) *7
(11 Af : At
(3)
At
(3) A®-At 4 2o (4)
56. A freely suspended needle of a magnetic compass comes to rest along the geographi 59. An
us
©Ah;08 BETYDH0ES BIBD WEHYT GoDHED, ©B FP0 BN, DHORBE Dy Ben ¥
P e
(1) north-east direction (2) east-west direction (
&BS-88y) BFed BIEY)-SE08 Ben
(3
(3) south-east direction (4) north-south direction
 EEp-8r8y) Bien &85-58 Bien 60. F:
g«:
- _ . \ (1
57. An lflcreasta in magnetic flux through a coil of 100 turns in 0-1 s is 0-001 Wb, The
maximum induced EMF generated in the coil is
(2
100 %o : »
oy e SRS Sioes® 0-1 s &° ey ©AIY,0B P DEHEO 0-001 Wh erard by 163
- (268 DENETOE 2R Den (@
g v
1 (2) 10V (4
(3) 0O1v
(4) 100V — I

SP.
ACE FOR ROUGH WORK /DBIIDE PRV

/4—B /a—B
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58. The magnetic force acting on g

Movi s . .
three quantities namely oving charge in a magnetic field is the product of

0%HRm), 08 § oS :
& ;08 g0 SEoe0tuRy) &0 SDVakn AR08 weo o DTty IO Bl
(1) charge, speed, electromotive force .

&93"'&0, :)&, amé&bag 2050

(2) charge, magnetic flux, magnetic flux density

&350, BALIY 0B LYo, A0 WPHT oD
(3) charge, speed, magnetic flux density

&80, 5, AR, 0% WPTT® Ao
(4) charge, speed, current

&80, 5B, DS S0

59. An auto driver started an auto rickshaw with the help of pulling a rope. The device

used by him to convert mechanical energy into electrical energy is

o8 eaeSSLQ:)S 565850 B EHEE0 S00E° b DDeed. B0KOS’ ALY %8, DisagE #Er B3EH

TGN e3P0

(1) multimeter (2) transformer
S0920ed 8

(3) dynamo (4) voltmeter
253 5°S doesd

60. Faraday’s laws of electromagnetic induction is a consequence of

IS IS o000
e le a}d.)?sc&diaﬁvboé (2880 DI 0080w D
(1) conservation of mass

(555078 DBFESO
(2) conservation of linear momentum
B 53N DBFESO
(3) conservation of an
e*dhas (sogl DBSBSO

" (4). conservation of energy

gul ar momentum

ié_g; & ’5@‘50

DS ";a:;ll]
I‘()le [{()ljt‘lil W()[QI{ /h]@}::’)l\.\]ﬁ- &‘
1 .

SPACE
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61. The C.G.S. unit of heat energy is

&5%88 C.G.S. (Saores0

(1) joule (2) kelvin
&S Eﬂuss

(3) dioptre (4) calorie
Goirgh 35°%

62. 27 °C+ x= SOO-K, then the value of x is

27 °C + x = 300 K 008 x de0d
(1) OK (2) 327 K

(3) 273 K. | | (4) 300K

63. The pair of substances which have the same value of specific heat is

28 933850 Dend SR a0k GF'BE Tded

(1) copper, aluminium ' (2) zinc, iron
5°55, ©OIT AN 20§, 7S
(3) ice, kerosene oil (4) water, ice
00w, 86%8 DK, Hoodd

64. During the process of conversion from liquid to solid, the internal energy of it
water ’

Kbaé 0% Segorr 53780 (S8ae”, Hed ©oBSH ¥§

(2) decreases

| . BHHBH
3) remains constant (4) None of these
B

SPACE FOR ROUGH WORK /DBISD8 uisiany
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65.

66.

L the mixture_ is

68.

Formation of dew and fog ig due to the process of I
07D 0B D0 D363 setensny @023 |58k

1) meltin
: . (2) freezing

SDEDD
L g 2DEHH0

3) evaporation
( ’ (4) condensation

BJ“ N
Ebﬁﬁéo Ao B¥8e0

40 g of water at 40 °C is added to 10 g of water at 80 °C. The final temperature of

30 °C &S SORS 40 . De3D 80 °C @i YRS 10 . HeSE 50%meto. Hesytko Bupison G, 836
&3S

i)} 48 2C (2) 40°C

(3) 120°C (4) 64 °C

. A light ray bends away from normal when it travels from

508 85830 ©0w0 08 EIEOIT HoRDDE dotk G Bty

(1) air to water (2) water to air
™8 008 D38 Be3 008 98

(3]' water to glass (4) air to glass
5e3 008 mertd ™d ook mestd

If v. and v, are the speeds of light in the two media of refractive indices n; and n,
2

respectively, then

n. 538050 n, ;5@,@:;:(3 Kyeaseen EORD B0 SHSPOS® 5208 Drred SEIT v, 08aio v, ©0oD
1 2

L L |
n SR EE
q) == i e
vy N2
2
i v _ N2
L @ o 2
3 —
(3) vy n% e
: 0S8 Friad)
SPACE FOR ROUGH WORK /80508 fuix
| P.T.O.
0 G|
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eed of light in a medium of refracy,
oht in vacuum is C The sp
ed of 1ig
69. The spect
index 4/3 18

a:‘a'a,soe’ﬂ" se0@ Mo ¢

(2) /4
i (4) 3c/4
(3) 4¢/3 |
70. The stars appear twinkling. The principle involved in it 1s
SjETen DoWITT EHIETA. 898 5880 @D S°0d mt@m.
(1) refraction (2) reflection
31888500 Blepaletle
(3) total internal reflection {4) dispersion
ROFrToBY SordEH0 55690

71. A rectangular tank of depth 4 m is full of water of refractive index 4/3. Whe
viewed from the top, the bottom of the tank is seen at a depth of

4 m S'o 5ORS 2.¥ ag SEEREED G 4/3 518550 dend KIRD HBE® Dod &oB. D Traw il
BRI G @it griiHn $ddow &%

(1) 3m (2) 2m

(3) 133m - (4) 1m

-

72. A convex lens gives a virtual image when the object is placed on the principal a¢

2.8 H)0grse8 £e0¥o 00 (BTS00 ba};?bo :ﬁg DD GO mi;?é [PSDo0 53636&)@05?
(1) at infinity ‘

@508 K80’
(2) at centre of curvature
S8 Soso 5
(3) between focal point and optic centre

TDODH BoS) BBk 58 Boiso g

(4)  between focal point and centre of curvature

W05 B0ty 95805 D@ oo DGy

BPACE FOR ROUG H

I WORK / DI PRSI

73.

74.

75.

76.
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74.

75.

76.

77,

(1) real, invert
(2) real, erect

08, HoSoteor

d Qe3, DeIdey
(3) virtual, erect g
_ (4) Does not form any image
&)m's, Klgﬁ)m@nﬂ t
(8D oo oyfe{al)

The lens which is bounded by one-curved surface is
28 DEBe0 AR &) Koo

(1) biconvex. (2) biconcave
8sSo0gsey Bgdersey

(3) plano-concave (4) concavo-convex
RBO -5 DTS S -K087°5°8

If 25 cm each is the object and image distances due to convex lens, then its focal
length is

25 cm © 53 &80 o8 (HSBoET S0 SOR &) Logrses SwEo AN, TEBE0

(2) 25 cm

(I) 50 cm
(4) 125 cm

(3) 15 cm

The angle between paraxial rays and principal axis is
2080 B8O S0BOL SRS Doty &0t §%0

(1) ©o° (2) 45°

(3) 90° (4) 83°

of white light into VIBGYOR colours is called

Splitting s
GD%Y (L
BGYOR Solfeorr &

32@3 o/t 90‘? Vi (2) dispersion
(1) scattering g 560

1361355'90 4 -efraction

internal reflection @ [

(3) total in RIL{ARITe) _ = —

/DEOBOE FeoD
o P

Sorarott HOVBE0
SPACE

FOR ROUGH WORK
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78. The light which has the maximum angle of deviation is

KBRL D0 §%30 KOS 5°0@ Yol
(1) red (2) yellow

Al S0
(3) violet ' (4) green

& es505%)

79. B;ue colour of the sky is due to the scattering of light by the atmospheric molecyj
O
85750 DO BolHS® E5560%) 2890, (808 FIgER O TErHEE SEATENYHOD 5708 S8 [0 Dok,
(1) H,0 | (2) co, |
(3) H, : (4) N,and O,
N, 308asw O,

80. The power of a--lexi‘é of focal 'lengﬂ] 20 cm is

.....

(2) 02D
(4) 2D

pia defect, the image is formed

' retina (2) before the retina

BEIDe 5006
(4) Does not form an image

PRz bq)d:éf:i;

.- -eye, 2'5 cm is the distance between
oe38, 2:5 om Bed sogsg et

(2) eye-lens and reting
5083 L5208 $y8ay Bedard Sois
(4) retina and object
Sadhs Beae S8tk wi
VR Dogsg
————‘"'-f’/
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83‘ In Old age, the Value of 1e
ég%‘ﬁéoés éﬁ)é}dﬁ} gg)g\m%o 3

5 :
st dlstance of disti

(1) larger value Y PANY
. QR DD DG (2)  smaller value
(3) Does not change BEYS Deud PHE
DOVD DIEEH (4) None of these

!

g4. Electric power is the prodyet of current and
. an
256 D50 05 NS [Fro SoBae

= L 9IORo;
1) resistance @
| ] 5° (2) charge
9]
i &%0

(8) velocity (4) potential difference

e #ﬁgdﬁa@ B

85. Three resistors each of 4 Q, 04 Q and 0:04 Q are connected in series combination.
Their equivalent resistance is

4 Q,—_0-4 Q %8050 0:04 Q Jenden ¥IRD Horch G Gre @ Sogrro B2et. 7o $9B d6°F0

(2) 444 Q
044 Q

(1) 48 Q
(3) 49 (4)

86. Pick th.e correct answer from the following two statements :

BoB Botd TSR S50 HBEIRD JDTTRO douslod :

(@ Ohm’s law is applicable to semiconductors.

€, DadIeRY 0D

Sl ORSER &
is applicable to met

() Ohm’s law
Sy TS
Only (a) is true
(a) H7E> V&0

allic conductors.
oo .50 DARBIRY TOT
(2) Only (b) is true
l i (b) S0 DO
(4) Both (a) and (b) are false

truc .
o (@) 0B (b) Bots® HIPS

(3) Both (a) and (b) @

(a) 53608 (B) BT e
FOR

vt )9 D8 PO
K /J@’a]:)._na‘a uh

ACE ]\’(JH(iII WOR
sPACK

| P.T.O
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SECTION—I17 : CHEMISTRY

91. What is the structural formula of
1508 TRS® wd s,

(1) CH;—oO— CH(SimpleSﬂ 3655 b2

3 2
Icl) (2)
GYRNGCH O
(3) Hy —C CHg (4)
92. Ethene and ethyne differ in the
F6B 08050 IS DFBOD womren
(1) number of carbons (2)
Sy o -
(3) number of hydrogens (4)
TE'mSe Soag
93. Identify the dimethyl ether.
B209S Se8 X HBoBd
O
| I
(1) CH; —C—CH, 2)
I
(3) CHz; —C—OCH; (4)

94. Saturated hydrocarbons contain

SotyD Ip|EseE)Sen EOR &0t
(1) at least one double bond (2)

£950 &8 Bgposo

(3) all single bonds (4)
o) I DOESV
95. Aliphatic hydrocarbons are
esdre38 3;:[_5“5‘5&5& @D
(1) closed chain hydrocarbons (2)
POy HOPO ?{L(%“S“Eﬁe}ﬁw N

(3) open chain hydrocarbons
Dbyt HyOO ';g'iﬁss‘tiz)Sen

R e
gPACE FOR ROUG

H—-—B (23

simplest ketone?

CH,— NH,
0]
Il

CH; —C— OH

number of bonds
ROEHVe Bogy

(2) and (3)

(2) 08atn (3)

CH3—O—CH3

CH; — C — OH

at least one triple bond
EDd0 a8 |Bwogo

at least one ionic bond
¥550 o8 eadireRE 0G0

acyclic hydrocarbons
e Basrap|E s 8)de

(2) and (3)

(2) 08k (3)

H WORK /980508 60200

[P.T.O
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96. Which one of the following can be used as acid-base indicator to detect acidic or
basic nature of solution?
B8R0 A0, 6% 58 0o BenkoS e (Bods BeoSeds  Brragky Treomnt)?
(1) Turmeric solution (2) Litmus
S0P @S0 Doyl
(3) (1) and (2) (4) None of these
(1) SBatn (2) D 57
97. If pH of rain water is less than — , then it is called acid rain.
38D O¢S pH 2008 5048 BT &RYHED, TR0 &3 380 @oerd),
(1) 56 (2) 76
(8) 66 (4) 86
98. Tooth enamel is made up .of
GoBID By, IS & NGB doeos.
(1) calcium sulphate (2) calcium chloride
s@ao 585 s9ao 538
(3) calcium phosphate (4) magnesium sulphate
s9avo iyes Dofydano 585

(3)

(4)

99 What do you observe on pburing Potassium hydroxide on
FETD0D0 PIETHE (TSes0s QW) HoBasw B &
(1) Red litmus remains red and blue litmus turns to red

red and blue litmus pPapers?
60 SAB0 D IDSHE, S 2 DRy FO8t0?

) 9end DHYHTD &OGOR, 5°9 HP DenDd AP B8

(2) Red litmus turns to blue and blue litmus remains blue

D0 deyd deore SIPER, 529 HE @mdﬁ OO SIS

Red litmus becomes colorless and blue litmus remains blue
DEJ) Ded 3 BIrBo @it 520 H e DO dochisy

Red litmus turns to blue and blue litmus turns to red

I s Deor S35 5805 59 DD AOHT Ay

/B
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100. The maximum number of electrons in M shell is
M 56‘)606“ &0t (A(S35Y .Delgme: QoR)y
(1) 2

(3) 18 (2) 12

(4) 24
101. Which of the following orbitals does not exist?
508 TRS® O ©38)eS desHore dotkir?
(1) 2p° (2) 3s'
(3) 4r'2 (4) 2d°
102. Niels Bohr received Nobel Prize in
2S5y 5% _ TR0S" S B, 80 d0md?

(1) Chemistry (2) Physics
[o7 oV T
(3) Biochemistry (4) Biophysics
f DDA BHFAE

. 5‘103 The number of degenerate orbitals present in 4d subshell is -

4d es8)erSS° o3 #8 Ko &38ET S0 '
| (1) 8 (2) 10
| (3) 5 (4) 4 [

i i inciple.
104. Presence of 3 unpaired electrons in nitrogen can be explained by princip

0B DOADHBIBW
BSBSS" 3 BBETED JOFD GoseR) D90

a P than (2) Pauli
27 DA
5 2905000
:"W:db (4) Bohr
o) | Bus &5 DAKHOR0
Grob DODHBIDD
roup elements.
105. Strong ionic bond is formed between R B
s 50
LD ©OSTRY ©0%0 o (7D DTS S8t 2 d VIIIA
(2) HIAan
(1) IAandIlA (4) TA and VIILA

(3) 1A and VIIA o —

ROUGH WORK /60308 5oma>
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106. 1s°, 287, 2p6, 3" 3p6 (2,8,8) configuration is related to

132, 252, 2p5, 352, 3p6 (2,8,8) gjanéﬁn;u__ & Horofodda.
(1 p° (2) cr’
(3) g2 (4) Al of these
9050
107. Lithium, sodium and _____ are Dobereiner’s triads.
dBcHo, MHdao B 9 &rabdb |@Eswen.
(1) S (2) Ca
(3) ClI (4) K
108. IV A group elements are called
IV A group SoresPeo) 0500 DEVFE?
(I) ecarbon family (2) chalcogen family
S°)® Henowo TS @0 K020
(3) nitrogen family (4) boron family
DS Henowo B0 Hewowo

109. An element X’ belongs to 2nd group and 3rd period. What is its valency?

23 10 So8akn 3 D HBALED DoBS K’ &S Boreko QB208); 5&};‘{)‘3
{1): -1 (2)%eo
(8) 3 (4) 4

110. Valance Bond Theory was proposed by

SoR) 06 HeroBBn (8380098

(1) Lewis (2) Kossel
OO0 £
3 .
(3)  Pauling (4) Bohr
ook o

BPACE O R R( WGH WORK /ii]k?"ni.‘u{)ﬂ 55400
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111. ldentify the correct statement.
N8 ©000% RS0 HBoHod
(1) By losing electron chlorine becomes cation
OFAN §°Sde0 e §BS sreackriam St
(2) By losing electron chlorine becomes anion
oA §'Gyeko TR EBS esdasrRone Stk
(3) By gaining electron chlorine becomes cation

DOFRR0 F0tsto TrgO® §78S SeucirRrT St
(4) By gaining electron chlorine becomes anion

oS rotitio Trge §8S esdairiom B

112. An elément 1 3X27 forms ionic compound. What is the charge on X’ in ionic compound?
X27 & Baroto i STgRy D508, sand’ @ Sogos” X' Surese Bws, esd%0 (charge)
13 .
Jods?
()l it (2) +2
(3) +3 (4) +4

Linus Pauling proposed the concept of

B0 290N (HATBODD I 87?2

(1) ionic bond (2) hydrogen bond
@038 o@o ipIE'ss @00

(3) hybridization '~ (4) covalant bond
S0¥B¥ses0 ' Lo@BIEDAL 0E0

Electronic configuration of 072 ion is
072 oS> G0Y), OGS I

2 545
" 12,25, 2p" @t 25 2P
(3) 1s2’ 2s%, 2p° ‘ (4) 1% 2s%,2p
The number of electrons gained by non-metallic element is equal to its
2.5 065 Baroso 08D IO Body 0 HATRO.
(1) valency (2) group number
5&).‘{}“] SRV
(3) bond angle (4) All of these
20t §°0 TRy
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116.

2 b b

118.

. During corrosion, a metal will

Reactivity increasing order of the following metals will be
808 Saresces® |Sosrion OR 1550 28?

(1) K, Na, Ca (2) K, Ca, Na

(3) Ca, Na, K (4) Na, K, Ca

Poling process is used to

D%90oR &9 (9|80 §°SE) TPEOTE).

(1) concentrate the ore (2) reduce the ore
$08 Ve o BB e oEBE0

(3) heat the ore with O, | (4) purify the crude metal
8y S8 oY Db DoDHes S°5%8

Corrosion of silver results in the formation of

3o AN SoBIPE e,

(1) silver chloride (2) pure silver

. dep §36 _ SgHYRP ok

(3) silver nitrate (4) silver sulphide
2exd DEses Dexb 986

S50 EonHn FoBIHE, & ST

(1) be oxidised (2) lose electrons
es&y¥6e0 Dot dogoony SSyHH

(3) be reduced (4) (1) and (2)
Ea$088es0 BOSID , (1) SoBos (2)

. Replacing one hydrogen from NH, by alkyl group will result in the formation of

8,6 (079 @07, NH, o0& 2.8 B S &oRodd 07 R0,
(1) aldehyde (2) ketone

adirs 85°S
(3) amine ' (4) ester

21 IR0
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